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Q.01. Manika Batra is associated with which sport?
(a) Table tennis (b) shooting (c) wrestling (d) Lawn Tennis
Q.02. Which countries are part of the Quad?

India, Australia, Japan, and the United States
India, China, Japan, and the United States
India, Australia, Russia, and the United States

a
b
c
d) India, Japan, South Korea, and the United States

(a)

(b)

(c)

(d)

Q.03. Who is the current Governor of the Reserve Bank of India (RBI) who received an
"A+" rating for the second consecutive year in the Global Finance Central Banker
Report Card in August 20247

(a) Urjit Patel (b) Shaktikanta Das
(c) Raghuram Rajan (d) D. Subbarao

Q.04. 'Ramsar Sites' are related to:

(a) Biodiversity (b) Wildlife Sanctuaries
(c) Wetland Conservation (d) Historical Sites

Q.05. Who built the stupa at Sanchi in Madhya Pradesh?
(a) Kanisha (b) Chandragupta (c) Ashoka (d) Harsha
Q.06. Who authored the book Sapiens: A Brief History of Humankind?

(a) Yuval Noah Harari (b) Stephen Hawking
(c) Malcolm Gladwell (d) Richard Dawkins

Q.07. What does FSSAI stand for?
Food Safety and Standards Authority of India
Food Supply and Standards Authority of India

Food Safety and Standards Agency of India

a
b
c
d) Food Supply and Standards Agency of India

(a)
(b)
(c)
(d)
Q.08. The first draft of the Constitution of India was prepared by:

(a) B.R. Ambedkar (b) B.N. Rau (c) K. Santhanam (d) K.M. Munshi

Q.09. Which of the following is not an operating system?

(a) Linux (b) Windows (c) Oracle (d) macOS
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Q.10.

Q.11.

Q.12.

Q.13.

Q.14.

Q.15.

Q.16.

JSA-I

The term "Fourth Estate" refers to:
(a) Judiciary (b) Media (c) Executive (d) Legislature
Who is the Chief Justice of the Supreme Court of India?

(a) DY Chandrachud (b) S A Bobde
(c) Sanjeev Khanna (d) Madan Lokur

What is 'Mossad'?

(a) Morocco's Social Services Administration (b) Iran's Parliament
(c) Israel's Intelligence Agency (d) Syrian Ministry of Defense

Which of the following laws is applicable in case of hydraulic brakes used in
automobiles?

(a) Newton’s law  (b) Torricelli's law  (c) Bernoulli’s Principle (d) Pascal’s law

Match List-l with List-1l and select the correct answer using the code given
below the lists.

List-1 (Crop) List-1l (Production zone)
(A) Coffee 1. Prairies plains
(B) Jute 2. Yangtze plains
(C) Rice 3. Sao Paulo Plateau
(D) Wheat 4. Ganges delta
Code
A B C D

(@ 3 1 4 2

(b) 2 4 1 3

(c) 3 4 2 1

(d) 4 3 2 1

Which nutrient is responsible for the elasticity in the dough?
(a) Gluten (b) Starch (c) Protein (d) Fiber
Who said" man is a social animal?"

(a) Marx (b) Lenin (c) Aristotle (d) Plato
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Q.17. Who is the Director General of CSIR ?

(a) N Kalaiselvi (b) Gagandeep Kang
(c) Shekhar C Mande (d) Samir Brahmachari

Q.18. The countries separated by the Durand Line are:

(a) Afghanistan and Pakistan (b) Bangladesh and India
(c) Pakistan and India (d) China and India

Q.19. The World Chess Championship 2024 will be played between which of the
following players

) Vishwanathan Anand and Gary Kasparov
) Magnus Carlsen and Hikaru Nakamura

) Fabiano Caruana and R Praggnanandhaa
) Ding Liren and G Dommaraju

Q.20. Which flower is designated as the state flower of Karnataka?

(a) Lotus (b) Palash (c) Rose (d) Sunflower

Q.21. How many medals were won by India at the Paris Olympics 20247

(a) Five (b) Six (c) Seven (d) Nine

Q.22. What does the acronym "ABS" stand for in automotive safety systems?

(a) Automatic Braking System (b) Anti-lock Braking System
(c) Advanced Brake System (d) Automatic Brake Sensor

Q.23. What is the common name for the compound H202?

(a) Hydrogen peroxide (b) Heavy water
(c) Hydrochloric acid (d) Water

Q.24. Match List-I1 with List-1l and select the correct answer using the code given
below the lists.

List-1 List-1I
(A) Saltpetre 1. Sodium Hydroxide
(B) Caustic soda 2. Copper Sulphate
(C) Blue vitriol 3. Sodium Thiosulphate
(D) Hypo 4. Potassium Nitrate
Code
A B C D

(@ 1 3 4 2

(b) 4 1 2 3

(c) 4 2 3 1

(d)y 3 2 1 4
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Q.25.

Q.26.

Q.27.

Q.28.

Q.29.

Q.30.

Q.31.

Q.32.

Q.38.

JSA-I

In context of Indian defence, Nirbhay is the name of:

(a) Cruise Missile (b) Main Battle Tank
(c) Fighter Plane (d) Helicopter Gunship

Who was the first Director-General of CSIR?

(a) Homi Bhabha (b) Shanti Swarup Bhatnagar
(c) S. Ramanujan (d) R. A. Mashelkar

Which of the following is an example of an IP address?

(a) www.example.com (b) FTP://127.0.0.1
(b) 192.168.1.1 (d) HTTPS://192.168.0.1

The Great Barrier Reef is located off the coast of which country?
(a) United States  (b) Australia (c) South Africa (d) Brazil

The concept of "Directive Principles of State Policy" in the Indian Constitution is
inspired by which country's constitution?

(a) France (b) Ireland (c) USA (d) South Africa
The Bhakra Nangal Dam is built on which river?

(a) Sutlej (b) Beas (c) Ravi (d) Chenab
The term "Black Swan" in finance refers to:

A rare and unpredictable event with significant impact
An economic policy promoting free trade
A period of sustained economic growth

a
b
c
d) A financial strategy to avoid risk

(
(
(
(

N— N e N

Which country is the largest producer of oil (petroleum) in the world?
(a) United States  (b) Saudi Arabia (c) Russia (d) Iran

A mother of blood group O has a group O child. What could be the blood group
of the father of the child?

(a) Only O (b) AorBorO (c)AorB (d) Only AB
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Q.34.

Q.35.

Q.36.

Q.37.

Q.38.

Q.39.

JSA-I

Various States and their popular dance styles are given as follows;

List-l List-1I

(A) Andhra Pradesh 1. Bihu

(B) Assam 2. Burra

(C) Himachal Pradesh 3. Ghoomar
(D) Rajasthan 4. Nati

What will be the correct matching of state and dance? Select the appropriate code.

Code
A B C D
(a) 4 3 2 1
(b) 2 1 3 4
(c) 2 1 4 3
(d) 3 4 2 1

What is 'biomagnification'?

) blowing up of environmental issues by man

) growth of organisms due to food consumption

) reduction of dissolved O2 caused by microbial organisms

) increase in the concentration of nondegradable pollutants as they pass
through the food chain

(a
(b
(c
(d
An indirect instrument of monetary policy is:
Open Market Operations (OMO)

Cash Reserve Ratio (CRR)

(a)
(b)
(c) Statutory Liquidity Ratio (SLR)
(d) Bank Rate

The Central Drug Research Institute of India is located at

(a) Madras (b) Lucknow (c) Delhi (d) Bangalore
What does "cryogenics" primarily deal with?

(a) High temperatures (b) Low temperatures
(c) High pressure (d) Vacuum systems

Who coined the word 'Geography'?

(a) Ptolemy (b) Eratosthenese (c) Hacataus (d) Herodatus
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Q.40. The National Sports day is celebrated across the Country to mark the birthday of

Q.41.

Q.42.

Q.43.

Q.44.

Q.45.

Q.46.

JSA-I

(a) Milkha Singh (b) Major Dhyan Chand
(c) Sachin Tendulkar (d) Kapil Dev

Match the authors to their works and accordingly choose the correct response.

Author Work
A. Visakhadatta 1. Mrichhakatika
B. Sudraka 2. Mudrarakshasa
C. Kalidasa 3. Vikramorvasiya
D. Bhavabhuti 4. Uttara Ramacharita
Codes

A B C D
(a) 2 1 3 4
(b) 1 2 3 4
(c) 2 1 4 3
(d) 4 1 3 2

Which of the following is the odd one?

(a) WAV (b) .FLAC (c) .MP3 (d) .BMP
Ringwormis a ................ disease.
(a) Bacterial (b) Protozoan (c) Viral (d) Fungal

Which country will host the 2028 Summer Olympics?

(a) Paris (b) Los Angeles (c) Brisbane (d) Tokyo

Quantum computing is a rapidly emerging field that promises to revolutionize
computing power. What is the fundamental unit of information in quantum
computing?

(a) Bit (b) Byte (c) Qubit (d) Nibble

The "CRISPR-Cas9" technology, which has revolutionized genetic engineering,
primarily works by:

(a) Detecting pathogens in cells (b) Editing DNA at specific locations
(c) Altering RNA synthesis (d) Increasing genetic diversity
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Q.47. The International Court of Justice (ICJ) is located in which city?
(a) Paris (b) Geneva (c) The Hague (d) New York
Q.48. The Indian Space Research Organization (ISRO) is headquartered in which city?
(a) New Delhi (b) Bengaluru (c) Hyderabad (d) Chennai
Q.49. Which tech giant is known for developing the Al chatbot ChatGPT?
(a) Google (b) Microsoft (c) OpenAl (d) Meta
Q.50. Who is the author of the book "The Alchemist"?
(a) Paulo Coelho (b) J.K. Rowling

(c) Gabriel Garcia Marquez (d) Haruki Murakami

*hkkkkkhkhhkk

Continued on the next page...
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Q.51. Select the correctly spelled word.

(a) Irrepairable
(b) Irreparable
(c) Irreperable
(d) Irrepareable

Q.52. Select the correctly spelled word.

(a) Neccessitate
(b) Necesitate
(c) Necessitate
(d) Necessatate

Q.53. Select the correctly spelled word.

(a) Perserverance
(b) Perserverence
(c) Perseverence
(d) Perseverance

Q.54. Select the correctly spelled word.

(a) Accommodate
(b) Acommodate
(c) Accomodate
(d) Accommodate

Directions (Qs. 55 - 56): In the following questions, a sentence has been given in Active
| Passive Voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive /Active.

Q.55. What one must do, one must do properly.

What must be done, must be done properly.
It must be done properly what one must do.
It must be done what one must do properly.
One must do properly what has to be done.

(a
(b
(c
(d

S N N N

Q.56. Don’t laugh at me.

Let me be laughed at.
Let me be not laughed at.
| am laughed at.

a
b
c
d) Let me be not laughed.

(a)
(b)
(c)
(d)
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Directions (Q. 57 and 58): a sentence has been given in Direct /Indirect speech. Out of
the four alternatives suggested, select the one which best expresses the same sentence
in Indirect/Direct speech and mark your answer accordingly.

Q.57. "Shall | open the window for you?" he asked.

(a) He asked if he should open the window for me.
(b) He asked if he will open the window for me.

(c) He said that he shall open the window for me.
(d) He offered if he should open the window for me.

Q.58. "Did you see the movie last night?" she asked him.

(a) She asked him did he see the movie the previous night.

(b) She asked him if he had seen the movie last night.

(c) She asked him if he had seen the movie the previous night.
(d) She asked him if he saw the movie last night.

Directions (Qs.59 and 60): In the following questions, in the given sentences, a part of the
sentence is underlined. Beneath each sentence, four different ways of phrasing the
underlined part are indicated. Choose the best alternative.

Q.59. On receiving his appointment letter, Ravi treated us with a sumptuous meal.

(a) treated us to (b) treated us for  (c) treated us by  (d) No improvement
Q.60. We were with daggers drawn despite attempts to understand each other.

(@)in (b) on (c) at (d) No improvement
Q.61. Select the correct collective noun for a group of owls.

(a) a murder (b) a parliament (c) a gaggle (d) a troop
Q.62. Choose the appropriate collective noun for a group of judges.

(a) a bench (b) a board (c)ajury (d) a council
Q.63. Select the correct plural form of "vertex."

(a) vertices (b) vertexes (c) vertii (d) vertexies
Q.64. What is the correct plural form of "serum™?

(a) serums (b) sera (c) serii (d) serae
Q.65. The term "vixen" refers to:

(a) A female fox (b) A male Jackal (c) A type of bird (d) A type of deer
JSA-II Page 17 of 22 D



Q.66. What is the female of a sheep called?
(a) Doe (b) Cow (c) Ewe (d) Nanny
Q.67. Choose the correct plural form of "alumna” (referring to female graduates).
(a) alumnae (b) alumni (c) alumnaes (d) alumnas

DIRECTIONS (Qs. 68 - 73): In the following questions, choose the word opposite in
meaning to the given word.

Q.68. Fallow
(a) cultivated (b) barbaric (c) desert (d) barbaric

Q.69. Impertinent

(a) Insolent (b) Impudent (c) Cheeky (d) Courteous
Q.70. Affable
(a) Amiable (b) Friendly (c) Hostile (d) Courteous

Q.71. Arduous

(a) Easy (b) Challenging (c) Difficult (d) Gruelling
Q.72. Reticent

(a) Reserved (b) Talkative (c) Quiet (d) Silent

Q.73. Frivolous

(a) Serious (b) Silly (c) Trivial (d) Playful
DIRECTIONS (Qs. 74 - 79): Read the following passage to answer the given questions
based on it.

Passage:

In the grand tapestry of human civilization, language stands as both a tool and a
mirror—an instrument through which we shape the world and a reflection of the societies
we construct. The nuances of language, its evolution, and its capacity for adaptation are
as much a testament to the resilience of culture as they are to the dynamism of human
thought. Consider, for instance, the rise and fall of entire lexicons that once dominated
the intellectual discourse of their time. Words, once vibrant and replete with meaning, can

fade into obsolescence, a silent casualty of shifting paradigms and changing mores.
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The process of linguistic attrition, wherein words fall out of common usage, is not
merely a byproduct of technological advancement or cultural shifts but is also deeply
intertwined with power structures and social hierarchies. Language, in its very essence,
is a tool of power. The words we choose, the syntax we employ, and the dialects we
privilege all serve to delineate boundaries—between the educated and the unlettered, the
elite and the common folk, the included and the marginalized. This stratification, subtly
perpetuated through linguistic choices, can perpetuate social inequalities even as
language continues to evolve.

Moreover, the globalization of language, particularly the ascendancy of English as
a lingua franca, has only exacerbated these disparities. While English opens doors to
global communication and access to knowledge, it simultaneously marginalizes those
who are not fluent, thereby entrenching existing social divides. The dominance of English,
often at the expense of local dialects and languages, raises critical questions about
cultural imperialism and the homogenization of global thought.

Yet, in this linguistic hegemon, there is also a paradoxical space for resistance.
Subaltern groups have historically used language as a means of asserting their identity,
crafting dialects, slangs, and vernaculars that subvert dominant linguistic norms. This act
of linguistic defiance is a powerful reminder that language, while a tool of power, is also
a domain of resistance and reclamation. The emergence of digital platforms has further
democratized this process, providing a voice to the voiceless and a platform for the
proliferation of alternative narratives.

In essence, the evolution of language is a complex interplay between power and
resistance, dominance and subversion. As we navigate this intricate landscape, we must
remain cognizant of the ways in which our linguistic choices shape not only our
communication but also the very structures of society in which we live.

Q.74. What is the primary argument of the passage regarding the role of language in
society?

Language is purely a tool for communication.
Language reflects and reinforces social structures.
Language is unrelated to power dynamics.

a
b
c
d) Language has become obsolete in the digital age.

(
(
(
(
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Q.75. According to the passage, what is "linguistic attrition"?

The process by which languages evolve into new forms.

The increase in the number of words in a language over time.

The gradual decline and disappearance of certain words from common usage.
The replacement of one language by another.
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Q.76. The passage suggests that the dominance of English globally has:

Equalized access to knowledge for everyone.
Eliminated social disparities.
Marginalized non-English speakers and exacerbated social divides.

a
b
c
d) Led to the disappearance of other major world languages.

(
(
(
(

SN— N N N

Q.77. The phrase "a silent casualty of shifting paradigms and changing mores" most
closely refers to:

) The disappearance of traditional cultural practices.

) The obsolescence of certain words due to societal changes.
) The decline of ancient civilizations.
)

a
b
c
d) The transformation of political ideologies.

(
(
(
(

Q.78. The term "lingua franca" in the passage refers to:

(a) A language that is native to a particular region.

(b) A language that is used as a common means of communication between
speakers of different native languages.

(c) A language that has no native speakers.

(d) A language that is rapidly declining in use.

Q.79. Which of the following best describes the tone of the passage?

Optimistic and celebratory.
Neutral and objective.
Critical and analytical.

a
b
c
d) Indifferent and dispassionate.

(
(
(
(

SN— N N N

DIRECTIONS (Qs 80 - 87): In the following questions sentences are given with blanks to
be filled in with an appropriate word(s). Four alternatives are suggested for each question.
Choose the most suitable option out of the four.

Q.80. The scientist, along with her colleagues, _ attending the conference next
week.
(a)is (b) are (c) were (d) have been
Q.81. IfI ___ you, | would accept the offer without hesitation.
(a) am (b) were (c) had been (d) was
Q.82. She acted as though she __ nothing about the event.
(a) knows (b) knew (c) has known (d) had known
Q.83. Despite several warnings, he did not ___ from his irresponsible behavior.
(a) refrain (b) abstain (c) prevent (d) constrain
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Q.84.

Q.85.

Q.86.

Q.87.

It is imperative that she __ the documents before submitting them.

(a) has reviewed  (b) reviews (c) reviewed (d) review

I'd ratheryou __ so defensive whenever we discuss constructive feedback.
(a) won’t be (b) weren’t (c) aren’t (d) hadn’t been
Were he | the team would have benefited from his experience.

(a) participating (b) to participate  (c) participated (d) participates
The car we were travelling in a mile from home.

(a) broke off (b) broke down (c) broke into (d) broke up

DIRECTIONS (Qs. 88 - 92) In the following questions, four alternatives are given for the
meaning of the given Idiom/Phrase. Choose the alternative that best expresses the
meaning of the Idiom/Phrase.

Q.88.

Q.89.

Q.90.

Q.91.

To let the cat out of the bag

(a) To keep a secret (b) To reveal a secret
(c) To blame someone else (d) To make a wrong decision

To have cold feet

(a) To feel hesitant or nervous (b) To succeed effortlessly
(c) To be indifferent (d) To act arrogantly

To throw in the towel

(a) To take on a challenge (b) To call for help
(c) To give up or surrender (d) To fight aggressively

To break the ice

(a) To become enemies (b) To end a friendship
(c) To create a challenge (d) To start a conversation in a difficult situation

Q.92. To be the elephant in the room

JSA-I

To be the centre of attention

To be an obvious problem that is being ignored
To be an insignificant issue

To be confused about a situation

(a
(b
(c
(d

)
)
)
)
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DIRECTIONS (Qs. 93 - 97) In the following questions, please fill in the blanks with the
most suitable of the four options given after each question.

Q.93.

Q.94.

Q.95.

Q.96.

Q.97.

Q.98.

Q.99.

An office or position with little or no work but providing a good salary is called a

(a) haven (b) sinecure (c) sanctuary (d) niche
A period of temporary relief from pain or discomfort is called

(a) respite (b) interlude (c) hiatus (d) lull
To formally renounce or reject a belief or claimisto

(a) abdicate (b) recant (c) forfeit (d) cede

A person who has a deep knowledge of a particular subject, especially in the arts
or sciences, is known as a

(a) savant (b) dilettante (c) neophyte (d) maven

A person who claims to have special knowledge or skills but is actually a fraud is
called a

(a) guru (b) charlatan (c) sage (d) aficionado
Select the sentence that is grammatically correct.

Each of the students have completed their homework.
Each of the students has completed their homework.
Each of the students has completed his homework.

a
b
C
d) Each of the students have completed his homework.

(a)
(b)
(c)
(d)

Select the sentence that is grammatically correct.

If I was you, | would apply for that job.
If | were you, | would apply for that job.
If  am you, | would apply for that job.

(a
(b
(c
(d) If I was you, | will apply for that job.

)
)
)
)

Q.100. Select the grammatically correct sentence.
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(a) This is boys hostel.
(b) This is boys' hostel.
(c) This is boy's hostel.
(d) This is boy hostel.
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